Passage a

N,0; is an unstablg; OXi :
) Xide of nitrogen and it d .
NO,(g) is further dimerise into Nzog4 as 1t decomposes into NO(g) and NO,(g) where

(i) N,0;(g) ==NO »(8) + NO(g) : K, =2.5bar

; Kp,

A flask is initially filled with pure N,0,(g) having pressure 2 bar and equilibria was
established.

(ii) 2NO,(g) =N 204(8)

At equilibrium partial pressure of NO(g) was found to be 1.5 bar.

1. The equilibrium partial pressure of N,0;(g) is:

(a) 0.5 bar ¥ (b) 1.0 bar (¢) 1.5 bar (d) 0.1 bar

2. The equilibrium partial pressure of NO,(g) is:

(a) 0.066 bar (b) 0.133 bar 7 (c) 0.423 bar MSS bar

3. The value of K5 is:

| =Y 1
(a) 0.16 bar (b) 0.32 bar ﬁ-% bar (d) 0.64 bar



N,04(g) == NO,(g)+NO(g) ; Kp =2.5bar

2NO,(8) == N04(8) T
x-y y/2
PN0=x=1.5b
____-PNO.‘PNOZ
= PN203

2.5 =__x(x—y)=15(15—y) _45-3y

2—-X 2-15 \

= y—?‘—bar ‘

3 ;

(1) Py,0, =2-x=2-45=05b ‘

2 2.5
(2) PN02 =x—y=1.5—-.§=__§_b ‘
3) K 2 GRCL =0.48 bar"

P2 9 (x=y) - 2(2.5)2
3



